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QUESTION 1

Click the Exhibit button. 

Your network is experiencing congestion across the link between R2 and R3. You must make changes to alleviate traffic
congestion from R3 to R2. 

Referring to the exhibit, which two commands would accomplish this task? (Choose two.) 

A. B. C. D. 

Correct Answer: BD 

 

QUESTION 2

Which two statements is true regarding the next hop attribute? (Choose two.) 

A. it is not changed when sent across EBGP sessions 
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B. it is changed to self for IBGP routes learned from EBGP 

C. it is not changed for IGBP routes learned from EBGP 

D. it is Changed by default when sent across EBGP sessions 

Correct Answer: CD 

 

QUESTION 3

Which statement is correct about CoS policers on Junos devices? 

A. Traffic that exceeds a policer\\'s traffic profile can be dropped or assigned to a specific drop profile. 

B. A policer can assign in-profile traffic to a specific forwarding class. 

C. A policer does not alter in-profile traffic. 

D. Policers can be configured to buffer traffic that exceeds the policer\\'s traffic profile. 

Correct Answer: C 

 

QUESTION 4

Click the Exhibit button. 

Switch 4 is rebooted as shown in the exhibit. 

Which statement is correct in this scenario? 

A. CIST is reconverged. 

B. MSTI-1 is reconverged. 
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C. CIST generates notification events. 

D. MSTI-2 is reconverged. 

Correct Answer: B 

 

QUESTION 5

Click the Exhibit button. 

Referring to the exhibit, what is the minimum number of MSTP regions where the topology would be implemented? 

A. 3 

B. 1 

C. 2 

D. 0 

Correct Answer: B 
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